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What is the difference whether he — Xx®p ;79up ¥% 17 7791 7ouP 9 IR
killed it entirely or whether he Kkilled half of the animal

OVERVIEW

The %7n3 challenged the ruling of 27 (that 121 993 "™%wn is 172 772Y7 NYwd) from a
xn»72 which stated that if he stole a 7w nam 7w, the thief pays 233w 1ys 121 993
(and not 7°72 77V NYWI as 27 maintains). The X713 answered that by 7w nom 717w
even 27 agrees that he pays (the higher price) 213w 1°w2, because % 12 71210 720p °%
X329 177vp. There is a dispute between *"w2 and Mmoo how to understand this answer.
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"' explained the answer of 121 °2 nn to mean, since the weakening of the
animal is the onset of slaughtering it.

mooIn disagrees with >"wA:
= 519 NNYAVY NYNIN XY RIT PN 139D HVP)

And it is difficult for the >''9 to accept this interpretation, for there is no
association at all between 77wno and 7752 -

-2y e 197 N3 DY R AT PIYa NP MHINN NN ORY 11D
Since if he would have killed her entirely in this manner (of 7w°n577 and not
through 77°2v), there would not be any rule of 'm '?. Therefore since by nw nam he
does not incur the penalty of 'm '7 (so it cannot be compared to 7r7°2v), he should be liable to pay

'M '7 *m%wn only at the value as of the time of 7nav (or °72 772V NYWI as 27 maintains) when
the animal is worth less.

mooIn offers his interpretation of 121 X5up % nn:
- NDUAT DTN N PITYD PRT A5 “n505 99 A 7099 91 NIN

But rather this is how the X ) refutes the question; ‘what is the difference

! See 7w nom 7"7 >"w that the thief manually caused the weakening of the cow. Mmoo will disagree.

* At whichever point the 213 would be 210 the animal he would certainly be liable to pay (the 'm '7 m>wn) [at least]
according to the value of the animal at the time immediately before the 7m°10; similarly here too when he took a
nrnw and he weakened it, he must pay (' '7 "m%wn) for the value of the animal as it was before the nw 271 (which
he caused), for the 7w°no1 is a partial Arav.

? The obligation to pay '™ '7 is only by (77°2m) fir2u; for any other killing of the 772 he merely pays the value of
the n73, but not ‘M '7. Therefore 7w noi (which cannot bring to a 'm '7 21°1) cannot be considered as a partial "2y
and there is no proof from 72 that he should pay 21w 1.

* According to the "3 the term 7912 720p is not referring to 72w and the 2 of 'm '7, but rather to a killing where
there is no '/ "7; we are discussing the 211 for the 77p.
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whether he killed the animal entirely’, where we do not follow its present value

(that the thief should pay its diminished value), the reason is -
-NY99 1YV 11N XY Y9V ANMAY NIDIPM 9N NIN 2333 YWY AIIN) *HPWa ANIDT

Because the thief acquired the animal through ‘change’ (it is now a dead animal)
and it does not belong to the one from whom it was stolen, and therefore we do
not consider the current value of the animal’, but rather we follow the original
value of the animal when it was the owner’s (as 27 maintains 2132 °¥2 77p), and

that same rule should apply when he killed half ® the animal (7wn>7), that the thief
cannot claim I was 19 12w a lean animal, for since he stole a 71w and was 7911 72v, he must
pay 'm '7 for a nrnw.

- INYPIYNTY DYUNT NN AWNIINA PTA XD DT %99

And according to this reasoning, the same ruling will apply if the animal
became weakened by itself, nevertheless the thief would pay 'm '7 as it was

originally worth; for the same reasoning applies -
= N2 NHN Y NN N NN Y NnY

What difference is there whether it died entirely (by itself) or whether it died

partially (by itself), for -
- ONOWA 903 XY 2903 YV AIAY RIPINTI 139905 W DINN NI NN INT

If it died entirely by itself, the thief would certainly be obligated to pay the
original value as it was when it belonged to the owner and we would not follow
the current price, similarly by X772 Awno11 he pays 213w Pvs 'm 7.

> Generally if there is a (substantial) change in the status of the stolen item it belongs to the thief (regarding that he is
not required to return the item, rather he must make a monetary payment for the item he stole).

% The ruling of 7913 790p teaches us that whenever something is stolen, the thief is liable for the value of the item
that he stole as it was worth when the 2131 owned it and not the value it has after it leaves the N1 of the 2131 through
"1w. It seems logical that the obligation to pay begins at the moment when the object was stolen. Therefore when
the 771N obligates one to pay ‘M "7 by 72w, it must be for the value of the item as it was worth when it was
completely 21317 Mw02 (at the moment it was stolen), before there was any physical change in the status of the
animal which can be considered a "11°w. See ‘Thinking it over’.

’ The animal currently belongs to the 213 (for he acquired it through the *1"w of 7n). The 213 is responsible to pay
for an animal that belonged to the 2131 (which was a 77°17), not for the animal that belongs to the 213 (which is a inn),
that is why we cannot go Xnwi1 7n2.

¥ Just as by 7912 720p we say that the 233 must pay for the animal as it was before there was a change in the status of
the animal, for after there is a change it is no longer the animal of the 21131, but rather the animal of the 21. In a
similar sense if the animal was wr, this is considered a "11°w (at least) to the extent that the payments due for this
animal [including 'm 11 93] are to be assessed at the value prior to when the "W took place when it was definitely
the animal of the 2131 (which is at the time it was stolen).

? According to this reasoning it makes no difference if the "1°w was caused by the 233 or if it happened on its own. If
there is a "11°w it leaves the N1 of the 2131 and belongs to the 213. Whenever there is a "11°w, the payment must be for
the value of the item before the "11°w took place.

' 1t is the same reasoning as in 7213 770p.
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And when the X923 answers and establishes the ruling of 29 (only) by &P
X9 [concerning ‘M "1 793 " 7wn] it could not have established the ruling of 27
when the animal became lean on its own.

mooIn offers an alternate explanation'® of 131 7213 72vp 5
- N9 N50P 29 A N9 HNY0D 95 N INK PIYa YIDY 180T PNYS 13539 TDIN I

And furthermore, says the ''9, it is possible to interpret % 7% 77912 7%up % a2’

'RabD RDup, in a different manner -
- 591025 XON NVINYY PR 9NT INDY 19998 412199

Meaning that even according to the one who maintains that the wsnw process is

not completed until the conclusion of the munw -
- 99AN 1AW 1Y 7Y 71 25900 X9

And therefore he is not obligated to pay '™ '7 until the very last bit -
= 1PINNR YN MY NINY NN 29D XNYY NONNT RMXWN 912 19N XD 957 1999N

Nevertheless we do not assess it value at that time, according to what the

animal is worth at the last moment before the v nw is completed'” -
- Bavony omp MUY Hn 199 NON

But rather we assess the animal how much it was worth before the nmunw
process began; the full value of the animal that he stole, -

'" Concerning X711 X7pv, the 7710 requires that he be paid back two animals or four (or five) animals like he stole
(the 70 writes OPw° 2°aw 0°n or "N W NN P2 Twan). If the price of animals decreased, he is therefore paying
him now the proper multiple of the animal that he stole. The 2131 can purchase with this money, two, four (or five)
animals comparable to the one that was stolen.

"2 1t would seem that according to *"wA (as well as according to the >"3 9mX 71 which follows shortly) the ruling of
27 can be established in a case where it was X1 nwnd. However according to this answer, by X2°nn qwno11 he pays
anw PYs'm.

" Some difficulties of the first explanation may include that according to Mmoo by X2"m» 7wn1 he pays 23w 13,
while the ®n>72 only mentions 7w nai (which seems to mean 2°7°3). In addition the W% of 121 X215 [%vp 2 1,
indicates that we are discussing a 12 that results in a 211 of 'm1 "7 (while according to mnoIn the term 7915 75vp is
referring to a regular killing), etc.

' According to this explanation the term 7%vp is referring to r°2v; concerning the payment of 'm 7. See previous
footnote # 4.

' See later on X,2v where there is a dispute whether 710 791 72'mn 7wnWY 71w (meaning that the 7w nw process is a
continuum from the beginning until the end [and all the laws pertaining to 770°nw are valid throughout this period]) or
1027 K2R " nw? PR (and the laws which are effected through nvonw take place only at the conclusion of the nvnw).
'® Since 71027 X9X UMWY X the obligation of paying ' '7 becomes effective only at the conclusion of the 7w nw, not
before.

'7 One might think that since the 'm '7 271 begins at the conclusion of the fwnw, the payment of 'm '7 should be
assessed at the value of the animal prior to 70w 73 (which is basically the value of a dead animal).

'8 This teaches that the thief is liable to pay ' '7 for the entire animal including the diminished value of the animal
that he caused (through 70 nw) prior to 7V NW 0.
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If this is indeed so, then by X3»2 Xbup as well which means when the thief
caused it to be weakened, we do not assess it as it is now (a weakened animal),

but rather as it was originally a healthy animal.
R0 HYNINA 397 1INDN NIPING S81 5N Nt DYV 299

And according to this reasoning, the 723 could have established the ruling of
29 in a case of N9¥an ey, for there too he would pay 172 77ava nyws. >

SUMMARY

X929 177up °% an 7710 ahup 2 1 according to °"w; just as by nm°av he pays the value
of the animal as it was worth before the 7912 7%0p, similarly by nwn®> he pays the
value of the animal as it was worth before X375 7%0p.

According to mooIn; just as by killing (7715 X?vp) he pays the value it had before
the "°w (when it belonged completely to the 21x1) the same is by X375 712vp, that he
pays the value before it became a 7wIn2.

According to the >"1 MR 7W; just as by a 7915 79%vp of nn*av he is responsible for
the diminishing value caused by the nunwn n?nn, similarly by X35 7%0p he is
responsible for the diminishing value caused by fwn2. It follows that according to
3" R T Y"wA, the ruling of 27 (that 172 77avn nywd) is applicable to #wn>
X7, however according to Mo0In the ruling of 21 is by 821 Xp1 exclusively and
not by any sort of wn>.

THINKING IT OVER

nmooIn argues that just as 7913 7%vP we do not follow the current price, for the thief
was "2 71, but rather he pays X1p°v»73, the same should apply by X379 ovp.”!
This would seem to indicate that the *11°w of X379 11%vp is 113p. However that cannot
be for if the 213 is 71 the animal (through 7w°no:) then there is no 'm "7 *m%wn (for
M0 X7 W)

' We can compare 0°7°2 7w°noi to 2w for in both cases the thief actually caused the deterioration of the animal
prior to the 'M "7 21n. Therefore just as by 1°2v the thief pays "M "7 for the loss he caused prior to the actual 2117 of
'm "7 (which takes place at 7v°nw 710), similarly the thief pays 'm "7 for the loss he caused through 7w non. However
by &?mn mwnowt where the loss was not caused by the thief, there is no precedent that he should be liable for the full
value of the animal as it was before it was X7 nwn2in. Therefore he will pay 'm '7 as it is worth 70 nw nywa.

20 The 172 77997 NYw (by 1m7av) would be the value of the animal just prior to the nraw (if it was X?2°mn qwnam) as
opposed to its value 722137 nywa. [See X"wiA]

*! See footnote # 6.

> See n'"m "MK,
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